

THE PREDIFFERENTIAL OF A PATH FIBRATION

N. BERIKASHVILI AND M. MIKIASHVILI

Abstract. For a simply connected space B the Hirsch model of path fibration is constructed in terms of B . In particular this means the calculation of loop space cohomology. As an application, the Hirsch model of the fiber of any fibration over B is given.

2000 Mathematics Subject Classification: 55N10, 55R20, 55T10.

Key words and phrases: Fibration, path space, Hirsch model, spectral sequence.

1. INTRODUCTION

Let k be a commutative ring and

$$F \rightarrow E \xrightarrow{p} B$$

be a Serre fibration. If $H^n(F, k)$, $n = 0, 1, 2, \dots$, are free k -modules, then the cohomological Hirsch model of the space E is the bigraded k -module

$$Y^{*,*} = C^*(B, H^*(F, k))$$

with the twisted differential defined by some (not uniquely determined) twisting cochain

$$a \in C^*(B, \text{Hom}^*(H^*(F, k), H^*(F, k))), \quad \dim a = +1, \quad da = -aa.$$

There is a chain map of the Hirsch model to the double complex X^{**} (cohomologically equivalent to the cochain complex $C^*(E, k)$)

$$C^*(B, H^*(F, k))_a \rightarrow X^{**},$$

inducing an isomorphism of cohomology [5, 3]. If we assume B simply connected, then a is of the form

$$a = a^{2,-1} + a^{3,-2} + a^{4,-3} + \dots + a^{i,-i+1} + \dots, \\ a^{n,-n+1} \in C^n(B, \text{Hom}^{-(n-1)}(H^*(F, k), H^*(F, k))).$$

The condition

$$d_A a = -aa$$

in our case is equivalent to the sequence of equations

$$\begin{aligned}
 \delta_B a^{2,-1} &= 0, \\
 \delta_B a^{3,-2} &= -a^{2,-1} a^{2,-1}, \\
 \delta_B a^{4,-3} &= -a^{2,-1} a^{3,-2} - a^{3,-2} a^{2,-1}, \\
 \delta_B a^{5,-4} &= -a^{2,-1} a^{4,-3} - a^{3,-2} a^{3,-2} - a^{4,-3} a^{2,-1}, \\
 &\vdots \\
 \delta_B a^{q+1,-q} &= -a^{2,-1} a^{q,-q+1} - \dots - a^{q,-q+1} a^{2,-1},
 \end{aligned}
 \tag{1.1}$$

and so on.

The twisted differential on $Y^{*,*}$ is defined by the formula

$$d_a(c) = \delta_B(c) + a \smile c.$$

In details,

$$\begin{aligned}
 d_a(c^{p,q}) &= \delta_B(c^{p,q}) + a_q^2 \smile c^{p,q} + a_q^3 \smile c^{p,q} \\
 &\quad + a_q^4 \smile c^{p,q} + \dots + a_q^{q+1} \smile c^{p,q}
 \end{aligned}$$

for $c^{p,q} \in C^p(B, H^q(F, k))$, where $a_q^n \in C^n(B, \text{Hom}(H^q, H^{q-n+1}))$ is the component of $a^{n,-n+1}$ acting on H^q . Clearly, the components a_q^n determine $a^{n,-n+1}$ uniquely. For the path fibration

$$\Omega B \rightarrow PB \rightarrow B$$

PB is acyclic, so spectral sequence arguments immediately give $H^1(\Omega B) = H^2(B)$, but $H^2(\Omega B)$ already involves the differentials of spectral sequence.

The aim of this paper is to write inductively on q , $q = 1, 2, \dots$, the cohomology $H^q(\Omega B)$ and a_q^* , the q -component of twisting cochain a , in terms of space B . The procedure is simple and the result is formulated as Theorem 2 in Section 4. Section 5 gives an application for the fiber of a fibration over B .

Adams cobar construction and Eilenberg–Moore spectral sequence are presently the most convenient tools in this area. We think an alternative approach presented here deserves some attention.

2. PRELIMINARIES

In this section, for convenience, we give the notions of the Hirsch model and the predifferential of a fibration as in [1, 2].

We shall consider a Serre fibration

$$F \rightarrow E \rightarrow B \tag{2.1}$$

with B simply connected.

Let k be a ring and G be a module over k and assume that all k -modules $H^i(F, G)$ are free. Consider $A = C^*(B, \text{Hom}_k^*(H^*(F, G), H^*(F, G)))$ and $Y = C^*(B, H^*(F, G))$. It is clear that A is a bigraded algebra since $\text{Hom}^*(H^*, H^*)$ is a graded ring, with the product being the composition. Furthermore, Y is a left module over A : there is a pairing $A \otimes Y \rightarrow Y$, where the product is defined by the \smile -product of B and the obvious pairing of coefficients: $\text{Hom}^*(H^*, H^*) \otimes H^* \rightarrow H^*$.

Consider the filtration $F^p(A)$ of the bigraded algebra A by first degree and let $a \in A$ be such that $\dim a = +1$, $a \in F^2(A)$ (i.e., $a = a^{2,-1} + a^{3,-2} + a^{4,-3} + \dots + a^{i,-i+1} + \dots$) and $d_A a = -aa$. Such elements are called twisting elements of the algebra A . The set of all twisting elements is denoted by $T(A)$. It turns out that $d_a y = d_Y y + ay$ is a differential in Y (i.e., $d_a d_a = 0$). Denote the complex (Y, d_a) by Y_a .

Let

$$g = 1 - u^{1,-1} - u^{2,-2} - u^{3,-3} - \dots ,$$

$$u^{n,-n} \in A^{n,-n} = C^n(B, \text{Hom}_k^{-n}(H^*(F, G), H^*(F, G))).$$

The set of such g 's is a group with multiplication as in the algebra A . It is called the group of units: $G(A) = \{g \mid g = 1 - u, u \in F^1 A, \dim u = 0\}$. Clearly,

$$(1 - u)^{-1} = 1 + u + uu + uuu + uuuu + \dots + u^i + \dots .$$

The group $G(A)$ acts on the set $T(A)$ via the formula

$$g * a = gag^{-1} - dgg^{-1}.$$

It is easy to verify that the map $f_g : Y \rightarrow Y$ defined by $f_g(y) = gy$ is an isomorphism of complexes $Y_a \rightarrow Y_{g*a}$.

Definition 1. We define the set of predifferentials of fibrations with base B and fiber cohomology $H^*(F, G)$ as the set of orbits of the set $T(A)$ under the action of group $G(A)$, $D(A) = T(A)/G(A) = D(B, H^*(F, G))$.

The set $D(B, H^*)$ is a contravariant functor on the category of topological spaces B , and if $f : B_1 \rightarrow B$ induces an isomorphism of homology, then $D(f)$ is one-to-one ([1, 2]).

The basic fact we will use below is

Theorem 1 ([1, 2]). *Fibration (2.1) defines uniquely an element $d(E) \in D(B, H^*(F, G))$, called the predifferential of fibration, such that:*

- 1) *for every $a \in d(E)$ the twisted complex $Y_a = C^*(B, H^*(F, G))_a$ is a model of the cochain complex $C^*(E, G)$ (i.e., there is a chain map $Y_a \rightarrow X^{**} \equiv C^*(E, G)$ inducing an isomorphism of homology; we call Y_a the Hirsch model of the fibration);*
- 2) *for every two elements $a, b \in d(E)$ such that $b = g * a$, $g \in G(A)$, the diagram*

$$\begin{array}{ccc} Y_b & \longrightarrow & X^{**} \\ \uparrow f_g & \nearrow & \\ Y_a & & \end{array}$$

commutes up to a chain homotopy;

- 3) *$d(E)$ is functorial: if $\phi : B_1 \rightarrow B$ is a map and $F \rightarrow E_1 \rightarrow B_1$ is the induced fibration, then $d(E_1) = D(\phi)[d(E)]$.*

(The first assertion of the theorem is due to G. Hirsch [5] and E. H. Brown [3].)

Note that the Hirsch model is not multiplicative: it does not carry a multiplicative structure.

Remark 1. This theorem is also true for the general case where cohomologies of fibers are not free k -modules and the base is not simply connected. In this case

$$Y = C^*(B, R^*H^*(F, G)), \quad A = C^*(B, \text{Hom}^* (R^*H^*(F, G), R^*H^*(F, G)))$$

with $R^*H^q(F, G)$ being a free resolution of the module $H^q(F, G)$. The differential is that of local systems [1, 2].

The first filtration of $Y_a = C^*(B, H^*(F, G))_a$ defined by

$$F^p = F^p(Y_a) = \sum_{i \geq p} C^i(B, H^*(F, G)),$$

is decreasing:

$$Y_a = F^0 \supset F^1 \supset \dots \supset F^{p-1} \supset F^p \supset F^{p+1} \supset \dots .$$

For the corresponding spectral sequence one has

$$E_2^{p,q} = H^p(B, H^q(F, G)) \implies H^{p+q}(Y_a). \tag{2.2}$$

This spectral sequence coincides with the Serre spectral sequence of fibration (2.1). So the questions posed as regards the Serre spectral sequence are to be redirected to the spectral sequence (2.2). All differentials of (2.2) are easy to write in terms of the cochain a ([2]). Even partial knowledge of a gives some information about differentials of (2.2). For example, the pair $a^{2,-1} + a^{3,-2}$, the beginning of a , determines the differentials d_2 and d_3 of the spectral sequence. Moreover, the Hirsch model is more handy than the fibration.

3. MORE ABOUT THE HIRSCH MODEL

Let us pay more attention to Y_a and let us forget for convenience that it comes from fibration, i.e., consider the following algebraic case: let U^* be a free graded k -module with $U^i = 0, i < 0, U^0 = k$, and $Y = C^*(B, U^*), A = C^*(B, \text{Hom}(U^*, U^*))$.

If $a \in T(A)$, then we have Y_a . Consider the natural imbedding

$$U^q \subset Y_a \tag{3.1}$$

as $(0, q)$ -cocycles in the differential module $Y = C^*(B, U^*)$, which reflects the fact that in the spectral sequence (2.2) $U^q = E_2^{0,q}$.

The filtration of complex Y_a by second degree (we call it the vertical filtration) is increasing: by definition, $F^q = F^q(Y_a) = \sum_{0 \leq i \leq q} C^*(B, U^i)$; it is a subcomplex in Y_a and

$$F^0 = C^*(B, k) \subset F^1 \subset \dots \subset F^{q-1} \subset F^q \subset F^{q+1} \subset \dots .$$

For each u in U^{q+1} the $(q + 2)$ -dimensional element of F^q :

$$\begin{aligned}
 & a_{q+1}^2(u) \\
 & \quad + a_{q+1}^3(u) \\
 & \quad \quad + a_{q+1}^4(u) \\
 & \quad \quad \quad \dots \\
 & \quad \quad \quad \quad + a_{q+1}^{q+1}(u) \\
 & \quad \quad \quad \quad \quad + a_{q+1}^{q+2}(u)
 \end{aligned} \tag{3.2}$$

is $a(u)$ and if by (3.1) we regard u as an element of $C^0(B, U^{q+1}) \subset Y_a$, it is au and from the formula $d_{Y_a}(u) = d_Y(u) + au$ it follows that

$$d_{Y_a}(u) = d_Y(u) + au = 0 + a(u) = a(u).$$

Hence it is a cocycle in Y_a and belongs to F^q .

Let

$$\begin{aligned}
 & x^2 \\
 & \quad + x^3 \\
 & \quad \quad + x^4 \\
 & \quad \quad \quad \dots \\
 & \quad \quad \quad \quad + x^{q+1} \\
 & \quad \quad \quad \quad \quad + x^{q+2}
 \end{aligned}$$

be another $(n + 2)$ -cocycle of F^q homological to (3.2) in F^q . Hence there is a $(q + 1)$ -cochain $b(u)$ in F^q , say,

$$\begin{aligned}
 & b^1(u) \\
 & \quad + b^2(u) \\
 & \quad \quad + b^3(u) \\
 & \quad \quad \quad \dots \\
 & \quad \quad \quad \quad + b^q(u) \\
 & \quad \quad \quad \quad \quad + b^{q+1}(u)
 \end{aligned}$$

such that $d_{Y_a}b(u) = x - a(u)$.

Lemma 1. *Assume that u is one of the basis elements of U^{q+1} and define $g_{q+1}^i \in C^i(B, \text{Hom}(U^{q+1}, U^{q+1-i}))$ on the basis elements of U^{q+1} by $g_{q+1}^i(u_k) = 0$, $u_k \neq u$, and $g_{q+1}^i(u) = b^i$. Then, denoting $g_{q+1} = g_{q+1}^1 + g_{q+1}^2 + \dots + g_{q+1}^{q+1}$, one has:*

- i) $\bar{a} \equiv (1 - g_{q+1}) * a$ coincides with a for U^j , $j < q + 1$, and for basis elements u_t of U^{q+1} others than u ;
- ii) $\bar{a}(u) \equiv ((1 - g_{q+1}) * a)(u) = \sum_i x^i = x$.

Proof. The proof is a straightforward application of the formula

$$(1 - g) * a = (1 - g)a(1 - g)^{-1} - d(1 - g).(1 - g)^{-1}$$

recalling that in our case where $g = g_{q+1}$, one has $gg = 0$, and hence

$$(1 - g)^{-1} = 1 + g, \quad dg.g = 0, \quad gag = 0, \quad ga(u) = 0.$$

For example,

$$\begin{aligned} [(1-g) * a](u) &= [(1-g)a(1+g) + dg](u) = (a - ga + ag + dg)(u) \\ &= a(u) + ag(u) + dg(u) = a(u) + d_a(g(u)) = a(u) + d_a b(u) = x. \end{aligned}$$

The lemma is proved. \square

It is evident that

$$H^i(Y_a) = H^i(F^q), \quad i \leq q. \quad (3.3)$$

Define

$$f : U^{q+1} \rightarrow H^{q+2}(F^q) \quad (3.4)$$

as the composition

$$U^{q+1} \rightarrow Z^{q+2}(F^q) \rightarrow H^{q+2}(F^q)$$

where the cycles are with respect to the differential d_a , U^{q+1} is considered as imbedded in Y_a as above in (3.1) and the first map is d_a .

For the first spectral sequence of Y_a we have

$$E_2^{p,q} = H^p(B, U^q) \implies H^{p+q}(Y_a). \quad (3.5)$$

Lemma 2. *If Y_a is acyclic then for $q > 0$ one has:*

i) $U^{q+1} = H^{q+2}(F^q)$. *This isomorphism is (3.4) (induced by the differential d_a on the subgroup $U^{q+1} \subset Y_a$ imbedded as $(0, q+1)$ -cocycles in the differential module $Y_a = C^*(B, U^{q+1})$);*

ii) $H^i(F^q) = 0$ if $i \leq q+1$.

Proof. For $i \leq q$, assertion ii) follows from (3.3) and $H^*(Y_a) = 0$; for $i = q+1$, it follows from simply connectedness of B by virtue of spectral sequence arguments. As for assertion i), in our case the map f in (3.4) is a monomorphism: if $f(u) = 0$ then $d_a(u) = d_a(v)$, $\dim v = q+1$, $v \in F^q$; and we see that all differentials of the spectral sequence (3.5) vanish on the element $u \in E_2^{0,q+1}$; but from $E_\infty^{0,q+1} = 0$ follows $u = 0$. On the other hand, f is an epimorphism: if not, then for some $p \geq 2$ it would be $E_\infty^{p,q-p+2} \neq 0$, which contradicts the fact that $H^{q+2}(Y_a) = 0$. \square

The main fact is the uniqueness of acyclic models over the same space given in the lemma below.

Lemma 3. *Let $Y = C^*(B, U^*)$ and $Z = C^*(B, V^*)$, $A = C^*(B, \text{hom}^*(U^*, U^*))$, $A_1 = C^*(B, \text{hom}^*(V^*, V^*))$. Let $a \in T(A)$, $b \in T(A_1)$ be such that Y_a and Z_b are acyclic complexes. Then there exist isomorphisms*

$$U^i \rightarrow V^i, \quad i = 1, 2, \dots, \quad (3.6)$$

and elements $a' \sim a$, $b' \sim b$ such that the map $Y \rightarrow Z$ induced by (3.6) is an isomorphism of complexes $Y_{a'} \rightarrow Z_{b'}$; hence U^i -s and the predifferential a are uniquely defined by the space B .

Proof. We are going to prove that the following inductive assertion is valid.

(P_q) : there exist isomorphisms $U^i \rightarrow V^i$, $i \leq q$, and a and b coincide in the range $i \leq q$ via these isomorphisms (then, of course, the induced map $F^q(Y_a) \rightarrow F^q(Z_b)$ is an isomorphism of complexes).

The assertion (P_0) is true: $F^0 Y_a = C^*(B, k) = F^0 Z_b$.

Assume that (P_q) is valid. Then we can write $F^q(Y_a) = F^q(Z_b)$. By Lemma 2 we have two isomorphisms

$$U^{q+1} \rightarrow H^{q+2}(F^q) \leftarrow V^{q+1} \tag{3.7}$$

induced by the differentials in $F^{q+1}(Y_a)$ and $F^{q+1}(Z_b)$, respectively. This defines an isomorphism $U^{q+1} \rightarrow V^{q+1}$. Choose a basis for $H^{q+2}(F^q(Y_a) = F^q(Z_b))$, say, $h_1, h_2, \dots, h_l, \dots$ and choose cocycles in each h_l :

$$\sum_{i+j=q+2} x_l^{ij} \in h_l.$$

We have by isomorphism (3.7) that h_l is in U^{q+1} and $d_a(h_l)$ is homological to $\sum_i x_l^{ij}$, by Lemma 1 we can transform a to \bar{a} assuming $u = h_l$:

$$\bar{a}(h_l) = \sum_i x_l^{ij}$$

In a similar way by Lemma 1 we can transform b to \bar{b} assuming $u = h_l$:

$$\bar{b}(h_l) = \sum_i x_l^{ij}.$$

Recall that for F^q the elements a and b are not changed and the new \bar{a} and \bar{b} coincide for the range $q + 1$, too, via isomorphism (3.7) (and still Y_a and Z_b are acyclic). Hence P_{q+1} is valid. □

The equivalent formulation of this lemma is

Lemma 4. *Let $Y = C^*(B, U^*)$, $a \in T(A)$, $A = C^*(B, \text{Hom}(U^*, U^*))$ and let Y_a be acyclic, then the predifferential $d(Y_a) \in D(B, U^*)$ with $a \in d(Y_a)$ is defined uniquely in the sense that if Z_b is another acyclic complex with $Z = C^*(B, V^*)$, $b \in T(A_1)$, $A_1 = C^*(B, \text{Hom}(V^*, V^*))$, then there are isomorphisms*

$$U^i \rightarrow V^i, \quad i = 0, 1, \dots,$$

*such that, after identifying the algebras A and A_1 via these isomorphisms the predifferentials $d(Y_a)$ and $d(Z_b)$ coincide, i.e., a and b become equivalent twisting elements: $b = g * a$.*

4. THE MAIN THEOREM

Lemma 2 gives a clue how to construct acyclic Y_a for given B . It runs as follows.

Let B be a simply connected space and k be a field. Let $U(B)^0 = k$, then $F^0 Y_a = C^*(B, k)$. It consists of one row and the differential is the coboundary operator δ of B . One has

$$H^i(F^0 Y_a) = 0, \quad i < 2. \tag{4.1}$$

Let $U(B)^1$ be $H^2(F^0Y_a)$. Choose a basis in $H^2(F^0Y_a)$, say $\{u_\lambda\}$, and for every u_λ choose a cocycle $l(u_\lambda)$ in it, $l(u_\lambda) \in u_\lambda$. Identify these basis elements as basis elements of U^1 and define a cochain $a_1^2 \in C^2(B, \text{Hom}(U(B)^1, U(B)^0))$ for a simplex $\sigma^2 \in B$ by

$$[a_1^2(\sigma^2)](u_\lambda) = l(u_\lambda)(\sigma^2).$$

The constructed $a_1^2 \in C(B, \text{Hom}(U(B)^1, U(B)^0))$ is a cocycle,

$$\delta_B a_1^2 = 0 \tag{4.2}$$

(the first equation of (1.1)): from

$$[(\delta_B a_1^2)(\sigma^3)](u_\lambda) = \sum (-1)^i [a_1^2(\sigma_i^3)](u_\lambda) = \sum (-1)^i l(u_\lambda)(\sigma_i^3) = 0$$

follows (4.2). This constructs the twisted complex $F^1Y_a = C^*(B, U(B)^i)$, $i = 0, 1$, with two rows. The differential for the new row is

$$dc^{p,1} = \delta c^{p,1} + a_1^2 c^{p,1}.$$

One has $F^0Y_a \subset F^1Y_a$ and $H^i(F^1Y_a) = 0$, $i < 3$.

Let $U(B)^2$ be $H^3(F^1Y_a)$, choose a basis in $H^3(F^1Y_a)$, say $\{u_\lambda\}$, and for every u_λ choose a cocycle $l(u_\lambda)$ in it, $l(u_\lambda) \in u_\lambda$. Let its components be $l^{2,1}(u_\lambda)$ and $l^{3,0}(u_\lambda)$. Identify these basis elements as basis elements of U^2 and let cochain $a_2^2 \in C^2(B, \text{Hom}(U^2, U^1))$ be defined for a simplex $\sigma^2 \in B$ by $[a_2^2(\sigma^2)](u_\lambda) = l^{2,1}(u_\lambda)(\sigma^2)$ and define the cochain $a_2^3 \in C^3(B, \text{Hom}(U^2, U^0))$ for a simplex $\sigma^3 \in B$ by

$$[a_2^3(\sigma^3)](u_\lambda) = l^{3,0}(u_\lambda)(\sigma^3).$$

Evidently, the equation $d_a l(u_\lambda) = 0$ is equivalent to the following two equations

$$\begin{aligned} \delta l^{2,1}(u_\lambda) &= 0, \\ \delta l^{3,0}(u_\lambda) + a_1^2 l^{2,1}(u_\lambda) &= 0. \end{aligned}$$

From the first equation it follows that

$$\delta a_2^2 = 0$$

and from the second one that

$$\delta a_2^3 = -a_1^2 a_2^2.$$

This constructs the twisted complex $F^2Y_a = C^*(B, U(B)^i)$, $i = 0, 1, 2$, with three rows. One has $F^1Y_a \subset F^2Y_a$. The differential for the new row is

$$dc^{p,2} = \delta c^{p,2} + a_1^2 c^{p,2} + a_2^3 c^{p,2}.$$

It is obvious that

$$H^i(F^2Y_a) = 0, \quad i < 4.$$

Suppose now that F^qY_a with $q + 1$ rows has already been constructed and let us construct $F^{q+1}Y_a$ as follows.

Let $U(B)^{q+1}$ be $H^{q+2}(F^q Y_a)$. Choose a basis in $H^{q+2}(F^q Y_a)$, say $\{u_\lambda\}$, and for every u_λ choose a cocycle $l(u_\lambda)$ in it, $l(u_\lambda) \in u_\lambda$; let its components be

$$\begin{matrix} l^{2,q}(u_\lambda) \\ l^{3,q-1}(u_\lambda) \\ \dots \\ l^{q+1,1}(u_\lambda) \\ l^{q+2,0}(u_\lambda). \end{matrix}$$

This means that the equations

$$\begin{aligned} \delta l^{2,q}(u_\lambda) &= 0, \\ \delta l^{3,q-1}(u_\lambda) + a_{q-1}^2 l^{2,q}(u_\lambda) &= 0, \\ \delta l^{4,q}(u_\lambda) + a_{q-2}^2 l^{3,q-1}(u_\lambda) + a_{q-2}^3 l^{2,q}(u_\lambda) &= 0, \\ &\vdots \\ \delta l^{q+1,1}(u_\lambda) + a_2^2 l^{q,2}(u_\lambda) + a_3^3 l^{q-1,3}(u_\lambda) + \dots + a_q^q l^{2,q}(u_\lambda) &= 0, \\ \delta l^{q+2,0}(u_\lambda) + a_1^2 l^{q+1,1}(u_\lambda) + a_2^3 l^{q,2}(u_\lambda) + \dots + a_q^{q+1} l^{2,q}(u_\lambda) &= 0 \end{aligned}$$

are valid. From the first equation it follows that

$$\delta a_{q+1}^{2,-1} = 0;$$

from the second equation that

$$\delta a_{q+1}^{3,-2} = -a_q^{2,-1} a_{q+1}^{2,-1};$$

from the third equation that

$$\delta a_{q+1}^{4,-3} = -a_{q-1}^{2,-1} a_{q+1}^{3,-2} - a_q^{3,-2} a_{q+1}^{2,-1}$$

and so on. From the last equation it follows that

$$\delta a_{q+1}^{q+2,-q-1} = -a_1^{2,-1} a_{q+1}^{q+1,-q} - \dots - a_q^{q,-q+1} a_{q+1}^{2,-1}.$$

This constructs the twisted complex $F^{q+1} Y_a = C^*(B, U(B)^i)$, $i = 0, 1, \dots, q+1$, with $q+2$ rows. It is clear that

$$F^q Y_a \subset F^{q+1} Y_a$$

and

$$H^i(F^{q+1} Y_a) = 0, \quad i < q+3.$$

The differential for the new row is

$$d c^{p,q+1} = \delta c^{p,q+1} + a_{q+1}^{2,-1} c^{p,q+1} + a_{q+1}^{3,-2} c^{p,q+1} + \dots + a_{q+1}^{q+2,-q-1} c^{p,q+1}.$$

This ends the inductive construction of Y^a and a^* .

Denote the constructed U, a, Y by $U(B), a(B), Y(B)$, respectively.

Now the first assertion of Theorem 1 in Section 2 and Lemma 3 in Section 3 immediately imply

Theorem 2. *Let*

$$\Omega B \rightarrow PB \rightarrow B$$

be the path fibration of a simply connected space B and let $Y_{a(B)} = C^(B, U(B)^*)_{a(B)}$ be some acyclic twisted complex constructed above. Then $H^i(\Omega B, k) = U(B)^i$ and $d(PB) = d(Y_a)$.*

5. THE HIRSCH MODEL OF FIBER

Let $F \rightarrow E \xrightarrow{p} B$ be a Serre fibration and $\Omega B \rightarrow PB \rightarrow B$ the path fibration of the basis. If

$$\Omega B \rightarrow F' \rightarrow E \quad (5.1)$$

is the fibration induced from the path fibration by $E \rightarrow B$, then F' is homotopy equivalent to F . Hence the Hirsch model of fibration (5.1) is the Hirsch model of F . So, by the theorem of the preceding section, the twisting cochain of the model for F' is $p^*(a(B)) \in A_1 = C^*(E, \text{Hom}(U(B)^*, U(B)^*))$, where

$$a(B) \in A = C^*(B, \text{Hom}(U(B)^*, U(B)^*))$$

is constructed in the preceding section. So one has

Theorem 3. *Let F be the fiber of a Serre fibration*

$$F \rightarrow E \xrightarrow{p} B,$$

with $\pi_1(B) = 0$ and $(U(B), a(B))$, $a(B) \in A = C^(B, \text{Hom}(U(B)^*, U(B)^*))$, be the pair constructed in the preceding section; then the twisted product*

$$C^*(E, U^*(B))_{p^*(a(B))},$$

where

$$p^* : A = C^*(B, \text{Hom}(U(B)^*, U(B)^*)) \rightarrow A_1 = C^*(E, \text{Hom}(U(B)^*, U(B)^*))$$

is the induced homomorphism, is the Hirsch model of the fiber F .

REFERENCES

1. N. BERIKASHVILI, On the differentials of spectral sequence. (Russian) *Trudy Tbiliss. Mat. Inst. Razmadze* **51**(1976), 1–106.
2. N. BERIKASHVILI, Zur Homologietheorie der Faserungen, II, Topologischer Teil. *Proc. A. Razmadze Math. Inst.* **116**(1998), 31–99.
3. E. H. BROWN, JR., Twisted tensor products. I. *Ann. of Math. (2)* **69**(1959), 223–246.
4. S. EILENBERG and J. C. MOORE, Limits and spectral sequences. *Topology* **1**(1962), 1–23.
5. G. HIRSCH, Sur les groupes d'homologie des espaces fibrés. *Bull. Soc. Math. Belgique* **6**(1953), 79–96.

(Received 10.11.2002)

Authors' address:

A. Razmadze Mathematical Institute
 Georgian Academy of Sciences
 1, M. Aleksidze St., Tbilisi 0193
 Georgia
 E-mail: berika@rmi.acnet.ge
 manana@rmi.acnet.ge